lMpou3zsodHan cnoxHol Mpumep.
hyHKYyuu (cos?x)' = 2cosx - (—sinx) = — sin 2x.
BapuaHnT Cl1.2

YpoBeHb A.
Haiawn npou3BoaHbIe CAOMHbIX QYHKLMIA

- 3 _ £a.6\4 ay 5.2, 5.8 316 _ 3.5
1. y= (2x° — 5x°) dx—'/'x( 22X + 6Xx>)?(18 3;\:)
2. y=(—23x* + Tx%)° :—z = 24x%(2x3 — 5x)3(1 — 5x3)
3.y = (-2 2%+ 6x%) 2 = 6x(—23x? + 7x®)%(~23 + 282°)
YpoBeHb B.
Haitgm npousBoaHble CAOXKHbIX YHKLMUIA
1.y =+vV4x? —3x +x3154;
dy_ 1 ( ) (x3—54)'_ -3
dx 2 — 3x (x* —54) Vax?2-3x ( )
= —11vV—=5x2 g
2.y =—11¥-5x" +45+
8 e et Ym (| ) = x____ 6x?
dx 2V 2+ ( 3+ )2 V-5xZ+ ( ?#)
3.y=5¢c05" x°;
Y_-5.2 % s ( %) 2% = x sin 2

dx




